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TABLA de ALGEBRA Por: Fernando Valdés M ©, UTP, Pereira

a® =1 2 1"=1 3 a"a™ =am™t"
a” n—m n__ nin g "
preial 5 (ab)" =a"b 6 (b>
a1 ax—™  (b\" am
O Y
(a+0)?=a*+2ab+0* 11 am = Yar 12 Vab = /aV/b
n a _ \T/a m/f n __ nm m n_ an
<E>_% 14§/ a= "a 15 (%/a)" = Var
Var = am 17 (a 4+ b)® = a® + 3a°b + 3ab®* +b° 18 a — b = (va — Vb)(va+ Vb)
a?— b =(a—0b)(a+b) 20 (a—0b)°=da®—3a%b+3ab®> — 1> 21 @ =g
In(ab) = In(a) + In(b) 23 In (%) = In(a) — In(b) 24 In(a") = nln(a)
log,,(z) 1 =
log,(z) = 26 logy(a) = 27 a* = bloea®
0 Lo, 0 A = 1o, )

In(z +vaz?2—-1) — —In(z —va2-1)

a?— b= (a—0b)(a*+ab+b*); @+ =(a+0b)(a®—ab+b?)
a' + a®b® +b* = (a® + ab+ b*)(a® — ab + b?)

a” —b" = (a—b)(a" " +a" 2+ + 0" = (a— ) nzi "R
k=0
a"—=b"=(a+b)(a"" —a"?b+ - —b"""), sines par
a"+b" = (a+b)(a" " —a" b+ —b"""), sinesimpar
a+b)? — (a —b)* = 4ab
a+b)?+ (a —b)? = 2(a® + b?)
(a—b)" = 8ab(a” +b*)

Ptz +1)(2® —z+1) =2 +27+1
a® + %) (2® + y?) = (ax + by)* + (ay — bz)?
a’+ b+ —3abc = (a+b+c)(a® +b* + ¢ — ab — be — ca)

(
(
(a+b)* —
(a”
(

1
a® +b* + ¢* — 3abc = §(a+b+c)[(a—b)2—|—(b—c)2+(c—a)2]
a* + bt = (a® + b + V2ab)(a® + b* — 2v/2ab)



